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Valence Electrons and Lewis Dot Structures
Part 1: Valence Electrons
The periodic table below shows the symbols for the first 20 elements. Fill in the number of valence electrons in the ( ). Remember that helium (He) is an exception since it is in group 18 but it only has two valence electrons.

	1
	
	
	
	
	
	
	
	18

	(   ) H
	2
	
	13
	14
	15
	16
	17
	(   ) He

	(   ) Li
	(   ) Be
	
	(   ) B
	(   ) C
	(   ) N
	(   ) O
	(   ) F
	(   ) Ne

	(   ) Na
	(   ) Mg
	
	(   ) Al
	(   ) Si
	(   ) P
	(   ) S
	(   ) Cl
	(   ) Ar

	(   ) K
	(   ) Ca
	
	
	
	
	
	
	


1. When an atom of magnesium combines with another atom to form a compound, how many electrons of the magnesium atom are involved? ________________________

Part 2: How to Write Lewis Dot Structures 
1. Count the total number of valence electrons.

2. Draw a skeleton of the molecule (just the atomic symbols).

3. Draw the bonds; each bond is made up of two electrons.

4. Draw in the remaining electrons, one at a time.

5. Check the octet rule for each atom.

6. If needed, make double or triple bonds to fulfill the octet rule.
Example: Nitrogen has five valence electrons. Its Lewis dot structure looks like this:
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7. Write Lewis dot structures for the following elements in the boxes below: Na, Si, O, and Ne.

	
	
	
	


Answer KEY

Valence Electrons and Lewis Dot Structures
Part 1. The periodic table below shows the symbols for the first 20 elements. Fill in the number of valence electrons in the ( ). Remember that helium (He) is an exception since it is in group 18 but it only has two valence electrons.

	1
	
	
	
	
	
	
	
	18

	( 1 ) H
	2
	
	13
	14
	15
	16
	17
	( 2 ) He

	( 1 ) Li
	( 2 ) Be
	
	( 3 ) B
	( 4 ) C
	( 5 ) N
	( 6 ) O
	( 7 ) F
	( 8 ) Ne

	( 1 ) Na
	( 2) Mg
	
	( 3 ) Al
	( 4 ) Si
	( 5 ) P
	( 6 ) S
	( 7 ) Cl
	( 8 ) Ar

	( 1 ) K
	( 2 ) Ca
	
	
	
	
	
	
	


When an atom of magnesium combines with another atom to form a compound, how many electrons of the magnesium atom are involved? Two (the two valence electrons)
Part 2: How to Write Lewis Dot Structures 
1. Count the total number of valence electrons.

2. Draw a skeleton of the molecule (just the atomic symbols).

3. Draw the bonds; each bond is made up of two electrons.

4. Draw in the remaining electrons, one at a time.

5. Check the octet rule for each atom.

6. If needed, make double or triple bonds to fulfill the octet rule.
Example: Nitrogen has five valence electrons. Its Lewis dot structure looks like this:
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7. Write Lewis dot structures for the following elements in the boxes below: Na, C, O, and Ne.

	
[image: image3.png]Na o





	
[image: image4.png]*Si-




	
[image: image5.png]



	
[image: image6.png]





_1349673520

_1349673521

_1349673522

_1349673519

